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Due Date: Submit the answer for this assignment no later than a week from the above date.
Highway Capacity
Question (1):
Write short notes about the following:
· Highway Capacity

· Factors affecting capacity
· Level of service


· Base conditions for multi-lane highway capacity
Question (2):
A multi-lane divided segment of a highway is in rolling terrain and has an access density of 6 access points/km in the northerly direction and 2.5 access points/km in the southerly direction. A four 3.4-m wide lanes and a 80 km/hr BFFS were employed. Obstructions 1.2 m away from the traveled lane on the right sides and a 2m wide median. The segment has a peak-hour demand of 2000 veh/hr in one direction with 10% trucks, 2% recreational vehicles and a PHF of 0.90, what is LOS?
Question (3):
A multi-lane highway needs to be designed with a volume of 1800 veh/hr, 10% trucks and a PHF of 0.85. The characteristics of the road are as follow:
3.6m lanes, adequate shoulders, undivided highway, 12 access points/km on each side, 88 km/hr for the 85th percentile speed and rolling terrain. Design the highway for a LOS (C).

If the LOS is D, determine the volume of the road, V in veh/hr?

Question (4):
An undivided 2 mile - multilane segment is required to be designed. It has a service flow rate of 1500 pc/hr/ln, a 4-lanes with 3.6 m for each lane, 0.9 m lateral clearance on both sides, and average 6 access points/km on each direction. If the 85th percentile speed is 94.8 km/hr, what is LOS?
Question (5):
A multi-lane highway with four lanes is in level terrain. The segment has an AADT of 1800 veh/hr in one direction, a PHF of 0.90 and an 85th percentile speed of 83.2 km/hr. If the base conditions are employed in this segment, determine LOS?
Good Luck
Dr. Alaa Gabr

